Sr

10

1"

12

13

14

15

Questions

= S Jh (e (Saia (e JauSly

S Gosrn S S a5 Sl oS (A

= U s o e (e (sl

= G o S Gl oS A

oS el oS b S sl

o S oS e el S e SRSy

d\ﬁxn)‘&‘&}&))‘.ﬂu&uﬂjw&nws

= sl oS (A

o et 18 Bxi Jlrs S 5505,

= Sl S A

o a3 1S e S il S 3,

2o Vs S ) Claslaa ooy S (illey o B (e (JISL,

= S8 (e ilay (S Sl e e (JEUSL

= S T8 AT (S D e e SL,

Answers Choice

A
e 31 G oy oS0

COmP» CO® P UOUP UOWP UOWP UOUP 00UP UOmP U0UP 00Wr DOmP U0UP DOWP UOmP 00w

gle 31U dn oo

05230 b Vs oS0
Cfl 31 G ysaian oy

bzl (e ol

JX = R TPRLIgEN]
ALl e (35 lan
Adlial (e 3 g [

31 e

31z

30 us

oS
il e sl
ALl e il e s

nﬁl.\.'alwné)uc)ﬁ
ALl ae sl

= du
e uiladl

ML) (e gl

N N TN

S5 b

oS S Sl N e

B s
el oS G
= o)
Sl (i

R
A
AVl

e e

SPCNTSS!

D3 ) s
PR ITSS
o ey Sl

s SN
Y e S
e oS5
dd oS

25358 A ]
Bl s B
S

Sl Qi Sriea

Cladlaa IS
s A
clailaa JH
Cladlae 555>

ol S

il laiola) il
S
il il S

Aas s e

Osbalaxe S alse
Dladig dlae) mua
T

Kala

10%

13.2%
10.7%
20.1%






